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©) ma+mb+mec=m(a+b+c)

(1) a’+2ab+b*=(a+b)?, a*—2ab+b>=(a—10)*

(2) a’—=b*= (a+b)(a—10)
3) 22+ (a+b)x+ab=(z+a)z+b)
4) acz®+ (ad+bec)z+bd= (az+b)lcx+d)
(5) a’+b*+c?+2ab+2bc+2ca= (a+b+c)
6) a®+3a’b+3ab”+b’>= (a+b)
a’>—3a*b+3ab’—b>=(a—10b)*
(7) a®+ b= (a+0)(a’>—ab+b?)
a’—b>= (a—0b)(a’+ab+b?)

2] Aol S4 @
@) z°+ (a+b+c)ax®+ (ab+be+ca)x+abe
=(x+a)(lz+b)z+c)
(9 a*+a’b>+b* = (a®+ab+b")(a”—ab+b")
10 a®+ 5%+ c® —3abe

= (a +b+c)< ‘L b+ —ab—bc—ca)
SRS IR
ab(a—10

2

)+be(b—c)+calec—a)

=a (b—c)+b2(c—a)+02(a—b)
—{a(b2—02>-|—b(02—a2>-|—c<a2—b2>}

(a—b)(b—c)(lc—a)



D (a+b+c)lab+bec+ca)—abe

=(a+b)(bt+tec)c+a)

@ (a+b)(b+c)(c+a)+abce

=(a+b+c)lab+bc+ca)

@ a+b+ec=00°]H

a’>+ b+ ¢? =3abe
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G(x)

S, f(2)=AG(z), g(z) = BG(x)olA

© f(z)+g(z)=(A4+B)G(z)

@ flz)—g(z)=(4-B)G(z)



